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Sub questions

Question Number : 1 Question Id : 68634012760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. BC GSIE
3. Qiadt IS
4. 391 OS5Il

Options :

68634050401. 1
68634050402. 2
68634050403. 3
68634050404. 4

Question Number : 2 Question Id : 68634012761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 3 Question Id : 68634012762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050409. 1
68634050410. 2
68634050411. 3
68634050412. 4

Question Number : 4 Question Id : 68634012763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050413. 1
68634050414. 2
68634050415. 3
68634050416. 4

Question Number : 5 Question Id : 68634012764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4, Sgsille
Options :
68634050417. 1
68634050418. 2

68634050419. 3
68634050420. 4

Question Id : 68634012759 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634012760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. BC GSIE
3. Qiadt IS
4. 391 OS5Il

Options :

68634050401. 1
68634050402. 2
68634050403. 3
68634050404. 4

Question Number : 2 Question Id : 68634012761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634012762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050409. 1
68634050410. 2
68634050411. 3
68634050412. 4

Question Number : 4 Question Id : 68634012763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050413. 1
68634050414. 2
68634050415. 3
68634050416. 4

Question Number : 5 Question Id : 68634012764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 3foUTHTg
2. 76T
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4, Sgsille
Options :
68634050417. 1
68634050418. 2

68634050419. 3
68634050420. 4

Sub-Section Number : 2
Sub-Section Id : 686340418
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634012765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634012765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634050424. 4

Question Number : 7 Question Id : 68634012766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 7 Question Id : 68634012766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 8 Question Id : 68634012767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634050432. 4

Question Number : 8 Question Id : 68634012767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634012768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050433. 1
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Question Number : 9 Question Id : 68634012768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634012769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050437. 1
68634050438. 2
68634050439. 3
68634050440. 4

Question Number : 10 Question Id : 68634012769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050437. 1
68634050438. 2
68634050439. 3
68634050440. 4

Question Number : 11 Question Id : 68634012770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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X
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Options :

68634050441. 1
68634050442. 2
68634050443. 3
68634050444. 4

Question Number : 11 Question Id : 68634012770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050441. 1
68634050442. 2
68634050443. 3
68634050444. 4

Question Number : 12 Question Id : 68634012771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A+B) BT 20%

| )
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L¥ ]
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Options :

68634050445. 1
68634050446. 2
68634050447. 3
68634050448. 4

Question Number : 12 Question Id : 68634012771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634050445. 1
68634050446. 2
68634050447. 3
68634050448. 4

Question Number : 13 Question Id : 68634012772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050449. 1
68634050450. 2
68634050451. 3
68634050452. 4

Question Number : 13 Question Id : 68634012772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. (x* 57 +x)



Options :

68634050449. 1
68634050450. 2
68634050451. 3
68634050452. 4

Question Number : 14 Question Id : 68634012773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050453. 1
68634050454. 2
68634050455. 3
68634050456. 4

Question Number : 14 Question Id : 68634012773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634012774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634050457. 1
68634050458. 2

68634050459. 3
68634050460. 4

Question Number : 15 Question Id : 68634012774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634050459. 3
68634050460. 4

Question Number : 16 Question Id : 68634012775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634050461. 1
68634050462. 2



68634050463. 3
68634050464. 4

Question Number : 16 Question Id : 68634012775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634012776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050465. 1
68634050466. 2
68634050467. 3
68634050468. 4

Question Number : 17 Question Id : 68634012776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634012777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®Y: d g2 W% WichIed (a1 ol & d HHT=IG: 35T ekl $d 6|
YIRUTT:
L T UIaH S0 doal 1 Wieifed Aol H3d o
11. 3fYUTae Iuad HaTe &1 9Ia- B 9@ d 6|
fFrafafad sH-a yrRom Suded FyA o erafiga el e/ €1
1. Bad JaURUM I
 Had JAYRUM I
 QAEROT I 3R GaeROT 11
4. 7 T QEYRON 1 3R 9 81 GaeROT 11

| )

L]

Options :

68634050469. 1
68634050470. 2
68634050471. 3
68634050472. 4

Question Number : 18 Question Id : 68634012777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P$Y: d 9o oI UicHIied a1 odT € 3 I 351 WewiH #id €
YT OTTE:
1. T UGS 3 =i &1 Wdled 76l P o

11. 3fYUTae Iuad HaTe &1 9Ia- B 9@ d 6|

fFrofafad sa-d yromg Suded HyA & eafiRaTgie /€1
1. Bad JaURUM I

 PHad JAYRUI I

 QAEROT I 3R GaeROT 11

A I YOURUN T 3R A §1 GaeRUI I

[
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Options :

68634050469. 1
68634050470. 2
68634050471. 3
68634050472 4

Question Number : 19 Question Id : 68634012778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
tfdtsi Sfuar dIad & ¢ s & dal asy 3R [dwed! & I @ ue 9|
A2 c4 | Es

G3 I5 7
M3 Q9 Q14

1. J15

b2

.K8
3. K15
4. 110

Options :

68634050473. 1
68634050474. 2
68634050475. 3
68634050476. 4

Question Number : 19 Question Id : 68634012778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Ufdrail stual diadl & ¢S & Ual asy 3R [deedl 9 g« ug gy

A2 | c4 | E6 |
G: | I5 ?
Ms | o9 | Q4

1.J15

| )

. K8
3. K15
4.L10

Options :

68634050473. 1
68634050474. 2
68634050475. 3
68634050476. 4

Question Number : 20 Question Id : 68634012779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ool 7 BT o e e &2

[ ]
[=.a]

3. 16
4.10

Options :

68634050477. 1
68634050478. 2
68634050479. 3
68634050480. 4

Question Number : 20 Question Id : 68634012779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



iy oot & Byt o Sem fret &2

| ]
]

3. 16
4. 10

Options :

68634050477. 1
68634050478. 2
68634050479. 3
68634050480. 4

Question Number : 21 Question Id : 68634012780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 7 9 foo g IR @r=ic 9 Id QRIPR 2022 WK fhar

1. FHr g

Options :

68634050481. 1
68634050482. 2
68634050483. 3
68634050484. 4

Question Number : 21 Question Id : 68634012780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



5 & G foa- Ao =g 9d 3@ REPR 2022 U f6am
1. e g

Options :

68634050481. 1
68634050482. 2
68634050483. 3
68634050484. 4

Question Number : 22 Question Id : 68634012781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UG [Gad U¥s, 2023 @ fauy Ul -
1. 93 & fore e
2. Higan gRan
3. 3T R URd
4. 5 YrfigRt
Options :
68634050485. 1
68634050486. 2

68634050487. 3
68634050488. 4

Question Number : 22 Question Id : 68634012781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MU fdad u¥s, 2023 &7 fqug o -
1. a1 & forg e
2. Hige gl
3. 3 R yRd
4. 5F YrfleR

Options :




68634050485. 1
68634050486. 2
68634050487. 3
68634050488. 4

Question Number : 23 Question Id : 68634012782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad SH-8 T ¥ YRd &1 Wyd Jgd egy Ties U S un ®iifid fear mrg?
1. PleipIdl
4 F
Options :
68634050489. 1
68634050490. 2

68634050491. 3
68634050492. 4

| )

[#5]

Question Number : 23 Question Id : 68634012782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafefad $-3 Te § YRa &1 9yH $ad ogH Ties U dl uh -ifud fear man g?
1. DIBIdI
L3
Options :
68634050489. 1
68634050490. 2

68634050491. 3
68634050492. 4

| )

L

Question Number : 24 Question Id : 68634012783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRT H facita STaTaasTer ST SN $B1F FHR Tl 82
1. fomgeit
2. TeHAl
5. e
4. gYTTHAT

Options :

68634050493. 1
68634050494. 2
68634050495. 3
68634050496. 4

Question Number : 24 Question Id : 68634012783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H fo<itg MaTaeTa &1 9190 B %% Il 82
3. Iyufd
4. JYTHT

Options :

68634050493. 1

68634050494. 2

68634050495. 3
68634050496. 4

| )

Question Number : 25 Question Id : 68634012784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g1, 9 I 9 59 o 8 5-TTdhe Wehid 82
1. T faor i 3ua

L)

R i
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L]
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Options :



68634050497. 1
68634050498. 2
68634050499. 3
68634050500. 4

Question Number : 25 Question Id : 68634012784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
£, e 3 e R 8 5-H1de Wewid &
1. T fee9 BT 3u

L)

P

| )

T UG 2l
-FU R

(5]

=

Options :

68634050497. 1
68634050498. 2
68634050499. 3
68634050500. 4

Part B: Psychology

Section Id : 686340254
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340419
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634012785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: About function of the central executive of Working Memory.
Statement I: The ability to coordinate performance on two separate tasks and to switch between them
Statement IT: The ability to use retrieval strategies
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is correct but Statement IT is false
4. Statement I 1s incorrect but Statement IT 1s true
Options :
68634050501. 1
68634050502. 2

68634050503. 3
68634050504. 4

Question Number : 26 Question Id : 68634012785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl U AU T §: PidS Wid & sy SRUd® & Ybrl 4 aldd o
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Options :

68634050501. 1
68634050502. 2
68634050503. 3
68634050504. 4

Question Number : 27 Question Id : 68634012786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DSM 5

1. Used 3 axes for diagnosis of mental disorder

b2

. Abandoned muli-axial systems entirely
3. Used 4 axes of diagnosis of mental disorder
4. Mamtamed the same multiaxial system as DSM IV with some modifications

Options :

68634050505. 1
68634050506. 2
68634050507. 3
68634050508. 4

Question Number : 27 Question Id : 68634012786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SITH.H.-5
1. T [deRI 1 e &3 & forg Ji7 st (ufes) o1 3w S|
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4. P SUCGRUN & FTY S1L.UH.UH. IV P a8 I41 SgHTATH o &I g1 3G g |

Options :

68634050505. 1
68634050506. 2
68634050507. 3
68634050508. 4

Question Number : 28 Question Id : 68634012787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is an assumption of arousal theory?

1. High levels of arousal are the most desirable

| )

. Optimal levels of arousal exist for each person
3. Zero levels of arousal is the desirable
4. Optimal levels of arousal exists for various activities

Options :
68634050509. 1



68634050510. 2
68634050511. 3
68634050512. 4

Question Number : 28 Question Id : 68634012787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 3o W BT Jala ware nfad el
TP Afad & o0 el TR &1 IS faam= siar g
YA R P 380 &l Je g

37ee W @1 3a1e fafay niafafiat & fou faemm sar g1

Options :

68634050509. 1
68634050510. 2
68634050511. 3
68634050512. 4
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Question Number : 29 Question Id : 68634012788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The structuralist school of Psychology.
1. Used introspection to analyze conscious experiences
2. Relied heavily on the process of natural selection
3. Was concerned with experience as a whole
4. Use dream analysis to reveal the unconscious
Options :
68634050513. 1
68634050514. 2

68634050515. 3
68634050516. 4

Question Number : 29 Question Id : 68634012788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 3=l BT I T & oY T fOweiwor &1 SudiT &l Ul

Options :

68634050513. 1
68634050514. 2
68634050515. 3
68634050516. 4

Question Number : 30 Question Id : 68634012789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The moon illusion in best explained by.

1. The effects of depth cues on apparent distance

[ B

. The perceptual closure effect
3. The denser atmosphere along the horizon
4. Convergence

Options :

68634050517. 1

68634050518. 2

68634050519. 3
68634050520. 4

Question Number : 30 Question Id : 68634012789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Y 1 FAIB ARAT Bl &
T gX1 OR TTERTS Hddll 1 WHId

TS §<1 & UHTG

—

| ]
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f&fas & Smyury uAT argHsd

Options :
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68634050517. 1
68634050518. 2
68634050519. 3
68634050520. 4

Question Number : 31 Question Id : 68634012790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The key aspect of therapy based on existentialism 1s

1. Resolving unconscious conflicts

[ )

. Eliminating symptoms
3. Believing you are capable of making choices about who you want to be
4. A holistic analysis

Options :

68634050521. 1

68634050522. 2

68634050523. 3
68634050524. 4

Question Number : 31 Question Id : 68634012790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050521. 1
68634050522. 2
68634050523. 3
68634050524. 4

Question Number : 32 Question Id : 68634012791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tuhina. 18 month old is preoccupied with pointing at things and asking what they are. Her behavior is
characterized by.

1. Naming explosion
2. Prelinguistic vocabulary
3. Overactive LAD (Language Acquisition Device)
4, Metalinguistic awareness
Options :
68634050525. 1
68634050526. 2

68634050527. 3
68634050528. 4

Question Number : 32 Question Id : 68634012791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
18 AR &1 Tl a3l B SR SR B U4 I ol & aR 1 o0 | 3961 HagR Haiad sidl o

1. THSI0 fgeple (AT Tewie)

2. QU Wi
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Options :

68634050525. 1
68634050526. 2
68634050527. 3
68634050528. 4

Question Number : 33 Question Id : 68634012792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Thumb sucking at the adult stage is a fixation at stage of psychosexual development given by Freud.

1. Latency

| B

. Anal
3. Oral

4, Phallic

Options :



68634050529. 1
68634050530. 2
68634050531. 3
68634050532. 4

Question Number : 33 Question Id : 68634012792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TIPTTRIT B R BT T IS R (48 T AT [q B e ¥ RRIFR |
1. 3feged (T
TR (T
g (3Ra)
e (i)
Options :
68634050529. 1
68634050530. 2

68634050531. 3
68634050532. 4

| )
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Question Number : 34 Question Id : 68634012793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A(An) test compares an individuals results on the test with the statistically representative sample.

1. Objective

b2

. Reliable
3. valid

4, Non-referenced

Options :

68634050533. 1
68634050534.2
68634050535. 3
68634050536. 4

Question Number : 34 Question Id : 68634012793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Y B €

1. g8
fayga
ag
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Options :
68634050533 1
68634050534 2

68634050535. 3
68634050536. 4

| )
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Question Number : 35 Question Id : 68634012794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electric nerve impulse that travels through a neuron when it 1s set off by a "trigger” changing the neurons
charge from negative to positive.

1. Graded Potential
2. Resting Potential
3. Action Potential
4. Threshold

Options :

68634050537. 1
68634050538. 2
68634050539. 3
68634050540. 4

Question Number : 35 Question Id : 68634012794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050537. 1
68634050538. 2
68634050539. 3
68634050540. 4

Question Number : 36 Question Id : 68634012795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A bell shaped curve or normal curve 1s

1. Mesolaurtic

2

. Leptokurtic
3. Platykurtic

4, Slewed

Options :

68634050541. 1
68634050542. 2
68634050543. 3
68634050544. 4

Question Number : 36 Question Id : 68634012795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050541. 1
68634050542. 2
68634050543. 3
68634050544. 4

Question Number : 37 Question Id : 68634012796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Down's Syndrome is characterized by the presence of an extra chromosome.

1.X

[
| ]
b

4,23

Options :

68634050545. 1
68634050546. 2
68634050547. 3
68634050548. 4

Question Number : 37 Question Id : 68634012796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S Ay U ofafkad S 31 Sulufa & g1 uRafid g g
1. gy
UgHId
arg
4. J5Hd

Options :

68634050545. 1
68634050546. 2
68634050547. 3
68634050548. 4
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Question Number : 38 Question Id : 68634012797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Flooding in a method under

1. Behavior therapy

2

. Cognitive Behavior therapy
3. Humanistic therapy
4, Client-centered therapy
Options :
68634050549. 1
68634050550. 2

68634050551. 3
68634050552. 4

Question Number : 38 Question Id : 68634012797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. JagR fefdeed
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Options :

68634050549. 1
68634050550. 2
68634050551. 3
68634050552. 4

Question Number : 39 Question Id : 68634012798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Some people show pleasure while others are terrified while riding a Roller Coaster. appraisal trigger
these different emotional experience:

1. Affective
2. Cognitive
3. Cultural
4. Social

Options :



68634050553. 1
68634050554. 2
68634050555. 3
68634050556. 4

Question Number : 39 Question Id : 68634012798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634050553. 1
68634050554. 2

68634050555. 3
68634050556. 4

¥

Question Number : 40 Question Id : 68634012799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who used "objective introspection” to study human processes?

1. William James

[

. Charles Darwin
3. Wilhelm Wundt

4. Alfred Adler

Options :

68634050557. 1
68634050558. 2
68634050559. 3
68634050560. 4

Question Number : 40 Question Id : 68634012799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050557. 1
68634050558. 2
68634050559. 3
68634050560. 4

Question Number : 41 Question Id : 68634012800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mean of any distribution of scores converted to Z score is always.

1.1

[
| ]

4.0
Options :
68634050561. 1
68634050562. 2

68634050563. 3
68634050564. 4

Question Number : 41 Question Id : 68634012800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SS-ATdie H ufkafid Ui & feedt faawor &1 TerdH 9ad ghT:
1. U®

ol
3.dH
A

Options :



68634050561. 1
68634050562. 2
68634050563. 3
68634050564. 4

Question Number : 42 Question Id : 68634012801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Presence of empathy in Nightingale and lust for power in Nepoleon are examples of

1. Central trait
2. Cardinal trait
3. Secondary trait
4. Source trait

Options :

68634050565. 1

68634050566. 2

68634050567. 3
68634050568. 4

Question Number : 42 Question Id : 68634012801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEfena & agyfa ®f Iufyfa ud Auifiem 1 T 3t 4E 336 &
1. BT Fiao
it Lo
. TTO7 T
e IRIE
Options :
68634050565. 1
68634050566. 2

68634050567. 3
68634050568. 4

| ]

L]

e

Question Number : 43 Question Id : 68634012802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following correlation coefficient would be considered as the most strongest one?

1.+.80
2.2 75
379
4. - .88

Options :

68634050569. 1
68634050570. 2
68634050571. 3
68634050572. 4

Question Number : 43 Question Id : 68634012802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 T 9 &1 91 Teway U Sy Jolgd JHT S

1. +380
2.=.75
3.+79
4, — .88

Options :

68634050569. 1
68634050570. 2
68634050571. 3
68634050572. 4

Question Number : 44 Question Id : 68634012803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rohit has constant worry about his health. He has met numerous doctors for ruling out serious diseases, only
to be reassured of his well being. Each small ailment (e.g.Sneezing, fever, headache) exacerbate his worries.

He considers them to be indications of major illness. Which disorder does he suffer from?

1. Somatization

(3=

. Conversion

L¥ 5]

. Dysmorphic

=

. Hypochondriasis

Options :



68634050573. 1
68634050574. 2
68634050575. 3
68634050576. 4

Question Number : 44 Question Id : 68634012803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afed DI 30 W & 9R 3§ FRaR i gt 81 Aol pRiaam @1 gRfREd S & g ag fed 7R
4R & ditsd o1 781 . & [ a8 &% Ridw®! 9 [0d 991 3 Ude BIc-9-8ic] d/ER] (3a18%0 &
foru Ste1, gER. RRes) Su@! gffdar 9¢1 3d ¥ 78 57 9t 3t it ik fiurd &1 9Fa amar g1

1. OHeEoEH
Fgo
feamfthe

4. STEOIHI SR

Options :

68634050573. 1
68634050574. 2
68634050575. 3
68634050576. 4

| ]
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Question Number : 45 Question Id : 68634012804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A negative correlation occurs when scores on one variable are associated with 5COres on a
second variable.

1. Higher: higher
2. Higher: lower
3. Higher; equal
4. Lower: equal
Options :
68634050577. 1
68634050578. 2

68634050579. 3
68634050580. 4

Question Number : 45 Question Id : 68634012804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1cp|~_§%|d+qa HeHaY 79 81dl ¢ o/ U 9 IR i, TR IR B TTich & a1y Fafd
HRE

1. 3= 3d

3= =

| )

3. 3=, gHM
4. . gEH

Options :

68634050577. 1
68634050578. 2
68634050579. 3
68634050580. 4

Question Number : 46 Question Id : 68634012805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a method of probability sampling?

1. Purposive sampling

[ )

. Snowball sampling

Lad

. Incidental sampling
4. Cluster sampling

Options :

68634050581. 1

68634050582. 2

68634050583. 3
68634050584. 4

Question Number : 46 Question Id : 68634012805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 o 9 1 wiigear uides ot us fafd g2
 SeRAIHD wldaxi
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Options :

68634050581. 1
68634050582. 2
68634050583. 3
68634050584. 4

Question Number : 47 Question Id : 68634012806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Color blindness 1s caused by defective in the of the eye.
1. iris, retina
2. iris, cornea
3. blood vessels, pupil
4. cones, retina
Options :
68634050585. 1
68634050586. 2

68634050587. 3
68634050588. 4

Question Number : 47 Question Id : 68634012806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qUiRE_  WEI S PRUEHI WP @S H Ui el gl
1. MRy, AT
EhE. S
e arfef-al, gadt
4. B, e
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Options :

68634050585. 1
68634050586. 2
68634050587. 3
68634050588. 4

Question Number : 48 Question Id : 68634012807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1s a form of conditioning in which the onset of the conditioned stimulus (CS) precedes the onset of the
unconditional stimulus (UCS) and the presentation of the CS and UCS does not over lap.

1. Delay conditioning

| )

. Simultaneous conditioning
3. Trace conditioning
4. Backward conditioning
Options :
68634050589. 1
68634050590. 2

68634050591. 3
68634050592. 4

Question Number : 48 Question Id : 68634012807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS WHR &1 I ¢ o Wriias Seiye (@.8.u9.) & 313 F gd Sl Sgus
(.79, 3T ST § Ud SMEfia U @rifae Seide @1 Uil Te gER &1 Siadd Te Xl g
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Options :

68634050589. 1
68634050590. 2
68634050591. 3
68634050592. 4

=

Question Number : 49 Question Id : 68634012808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A researcher wants to test if there is a significant difference between the achievement scores of gth grade
students 1n mathematics before and after 2 months of mstructions. Which of the following tests will be the
most appropriate to use?

1. Chi-square test
2. Independent sample t-test
3. Dependent sample t-test

4. Pearson correlation

Options :

68634050593. 1
68634050594. 2
68634050595. 3
68634050596. 4

Question Number : 49 Question Id : 68634012808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Yleehdl Ig ULI&U1 BT Aledl ¢ 16 8l B&il & S| o M0 § Fydied Ui § 2 018 & e 8
Ud Ud U=ETd 11 g A1 SR Urdl SIdl 5 | Fe T & oI A1 ULlefur Wjed 1 Hallte Sugdd g

1. BTe-ai Gl
2. WA ufdaxt d-udigun
3. FR wfded dadiemn
4. TogeiT gedey

Options :

68634050593. 1
68634050594. 2
68634050595. 3
68634050596. 4

Question Number : 50 Question Id : 68634012809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



neurons carry messages from the senses to the spinal cord. neurons carry messages from the
spinal cord to the muscles and glands.

1. Afferent. efferent
2. Efferent. afferent
3. Efferent. inter
4, Inter.afferent
Options :
68634050597. 1
68634050598. 2

68634050599. 3
68634050600. 4

Question Number : 50 Question Id : 68634012809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050597. 1
68634050598. 2
68634050599. 3
68634050600. 4

Question Number : 51 Question Id : 68634012810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Association Agnosia patients cannot readily name the objects they have seen or drawn

Statement IT: Prosopagnosia patients may not recognize faces of known people even photographs of their
own face

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are frue

2. Both Statement I and Statement IT are false

3. Statement I is correct but Statement II is false

4. Statement I is incorrect but Statement IT is true

Options :

686340500601. 1
68634050602. 2
68634050603. 3
68634050604. 4

Question Number : 51 Question Id : 68634012810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR RICACU R e

HUT 1 - e AT P I 307 GRI ! a1 Fafa 31 g5 axgsfl &1 St 9 7 81 9 U §
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Options :

686340500601. 1
68634050602. 2
68634050603. 3
68634050604. 4

Question Number : 52 Question Id : 68634012811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In proactive interference. information currently being learned interferes with information already
present in memory

Statement IT: In retroactive interference. previously learned information interferes with information being
learned at present

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement IT are false

3. Statement I is correct but Statement II is false

4, Statement I is incorrect but Statement IT is true

Options :

68634050605. 1
68634050606. 2
68634050607. 3
68634050608. 4

Question Number : 52 Question Id : 68634012811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340500605. 1
68634050606. 2
68634050607. 3
686340500608. 4



Question Number : 53 Question Id : 68634012812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Facial feedback hypothesis indicates that emotional states can produce change in facial
expressions

Statement IT: JTames- Lange theory of emotion suggests that subjective emotional experiences are actually the
result of physiological changes within our bodies

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is correct but Statement IT is false

4. Statement I is incorrect but Statement IT is true

Options :

68634050609. 1
68634050610. 2
6863405006011. 3
686340500612. 4

Question Number : 53 Question Id : 68634012812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050609. 1
68634050610. 2
68634050611. 3
68634050612. 4

Question Number : 54 Question Id : 68634012813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: When people do not recall their dreams it is probably because they are secretly trying to forget
them

Statement IT: Sleep enables the brain to rest because little brain activity takes place during sleep
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false

3. Statement I 1s correct but Statement IT is false

4. Statement I is incorrect but Statement II is true

Options :

6863405006013. 1
68634050614. 2
6863405006015. 3
68634050016. 4

Question Number : 54 Question Id : 68634012813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634050613. 1
68634050614. 2
68634050015. 3
68634050616. 4

Question Number : 55 Question Id : 68634012814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to information processing theory cognitive development is characterized by increase
in storage capacity. processing speed and efficient executive functioning

Reason R: The process of myclination is the most prolonged developmental change in human brain

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

686340500617. 1
68634050618. 2
68634050619. 3
686340500620. 4

Question Number : 55 Question Id : 68634012814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634050617. 1



686340500618. 2
68634050619. 3
68634050620. 4

Question Number : 56 Question Id : 68634012815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Standard sores expresses the individual's distance from the mean in terms of standard deviation
Reason R: Linearly derived standard scores are often designated simply as 'z’ score
In the light of the above statements. choose the most appropriare answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. A is correct but R 1s not correct

4, A is not correct but R is correct

Options :

68634050621. 1
68634050622. 2
68634050623. 3
68634050624. 4

Question Number : 56 Question Id : 68634012815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634050621. 1
68634050622. 2




68634050623. 3
68634050624. 4

Question Number : 57 Question Id : 68634012816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Research evidence indicates that aggression in a reasonably stable attribute
Reason R: Reactive aggressors are children who display high levels of hostile, retaliatory aggression

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

| )

. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Options :

68634050625. 1
68634050626. 2
68634050627. 3
68634050628. 4

Question Number : 57 Question Id : 68634012816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050625. 1
68634050626. 2
68634050627. 3
68634050628. 4



Question Number : 58 Question Id : 68634012817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A: The Behavioral Activation system (BAS) and the Behavioral Inlubition system (BIS) are the two
neural systems, the functions of which establishes the relationship between emotion and motivation

Reason R: BIS links approach motives and derived incentives with positive emotions

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

68634050629. 1
68634050630. 2
68634050631. 3
68634050632. 4

Question Number : 58 Question Id : 68634012817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050629. 1
68634050630. 2
68634050631. 3
686340500632. 4



Question Number : 59 Question Id : 68634012818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The social position curve provides evidence for the existence of two distinet memory systems
short-term (working) memory and long term memory

Reason R: When people try to recall a list of unrelated words, they usually remember more words from the
beginning and end of the list than from the middle

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R 1s false
4. A 15 false but R is true

Options :

68634050633. 1

68634050634. 2

68634050635. 3
68634050636. 4

Question Number : 59 Question Id : 68634012818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁﬁgﬁ HY fST T B: U BT (Assertion A) & =0 1 ARG § I GIRT 3HP BRI (Reason R) P
SO H:

DY A : PHD RIFM R agh. 3 i1 UPR & Hdl T3l - SeTpIcieD (SRiED) FHid Td drdiiern
Wi & 3f&T@ oq ed UgH Bl o )

DRUIR : od AR bl e T Bt 2 AR DR B DI D 5, I8 Usal DI Al § H TH
@1 ga-1 8 YR Ud 31 & eg SU1&] T8 I8d g |

SRl HY- & 3Tl |, - U Ty fasedi § 9 91 IR &1 90 Sif:

1.AFRRE TG € SIRR AT Gel TRATE
2. A RREH IU %, dfFTR. A D! Tg! AT 61 ©

3. AT e, AfR 3TT B

4. AIEIe, AfFTRIA S

Options :

68634050633. 1
68634050634. 2
68634050635. 3



68634050636. 4

Question Number : 60 Question Id : 68634012819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
Occipital Lobe | 1. |Prefrontal Cortex
Parietal Lobe | II. | Somatosensory Cortex
Temporal Lobe| II1. | Primary Visual Cortex
Frontal Lobe |IV |Primary Auditorv Cortex

T REE

Choose the correct answer trom the options given below:

1. A-IT B-III C-IV D-I

| ]

CA-ITT B-II C-IV D-I
3. A-III B-IV C-II D-1
4. A-IV B-1I C-III D-I

Options :

686340500637. 1
68634050638. 2
68634050639. 3
686340500640. 4

Question Number : 60 Question Id : 68634012819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1% 1Y =t 11 BT fHeH i

T 1 =1
U=aohurd U] I [ITH 3 dede
firifgufe | 1L [eieddal depe
=RETTT 11 [4% 2=Y e
SELI] IV. [{% a0 dede

=i fau U f[d@eql § O 9al 37 &1 904 Bifelu

1. A-IT B-III C-IV D-I

ofolwF

|

CA-ITT B-II C-IV D-I
3. A-III B-IV C-II D-1
4. A-IV B-II C-III D-I

Options :
68634050637. 1



68634050638. 2
68634050639. 3
686340500640. 4

Question Number : 61 Question Id : 68634012820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI LISTII
A | plaseboatrst| T We can l{lrau' clear causal_
conclusion from an experiment
B High external 1 The results of a study generalize to
" validity " |other settings and populations
Participant improves because of the
C Double-blind 1 expectation of receiving a
" lprocedure " treatment, not because of the
treatment itself
ik inibeial Neither 1'esea1'<;hers nor p.a_ﬁicipanrs
D. Sat IV Jknow the condition to which each
validity o z :
- participant is assigned

Choose the correct answer trom the options given below:

1. A-IIL B-I. C-II. D-IV

| ]

AL B-IV. C-1. D-IT
3. A-IL B-III. C-IV, D-I
4. A-IT1, B-II. C-IV. D-I

Options :

68634050041. 1
68634050642. 2
68634050043. 3
686340500644. 4

Question Number : 61 Question Id : 68634012820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1S 1Y G 11 BT fHer i

il T 1
A [wiRE gyE 1[50 Uai U gRiNad RS H5hY Hbld Tbd o
B Al dgdl | 11 [U@ HEEH & TR0l & 3= Ga Ud oaied] IR JH=iidd [l oidl & |
¢ ommmn  |m %ﬁt@%ﬁlmﬁgwmduwﬁqﬁsﬂqaamqsﬂmﬁm%ﬁiﬁw
D. %‘j"f P v 7 St A Sy @ O S 2 Seui 3 e O R & v T 2|
i< fau Tt faeedi O O 9ol SR &1 99 Hifoy ;

1. A-III, B-1. C-II. D-IV

2. A-IIL B-IV. C-1, D-II

3. A-IIL B-III., C-IV. D-I

4, A-III, B-1I. C-IV, D-I

Options :

68634050641. 1
68634050642. 2
68634050643. 3
68634050644. 4

Question Number : 62 Question Id : 68634012821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI
Approaches

LISTII

Psychologists

Genetic Epistemology

1. | Bandura

Human Factor Engineering] II. | Piaget

Individual Differences

ITI. | Galton

REE

Observational Learning IV | Broadbent

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

2. A-IL B-1. C-IV, D-III

3. A-IL B-IV. C-III. D-I

4, A-IL B-IIIL. C-IV, D-I

Options :

686340500645. 1
68634050646. 2
68634050647. 3




68634050648. 4

Question Number : 62 Question Id : 68634012821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1S 1Y G 11 BT fHer i
T 1 ([UNTH) EelllGRIGRIRED)
A [sHR® uigedaen | L [dE
B. [Ad ®R® AMHTiED]| I [fugr
C. [dafadd fH~ang 11 e
D. [d&unEd SHitRH V. [gres=
i fou 7T fasedl O O 9ol SR &1 99 Bifo ;

1. A-I. B-II. C-III. D-IV

| o

A-IL B-1. C-IV, D-III
3. A-IL B-IV. C-III. D-I
4. A-IL. B-III. C-IV. D-I

Options :

68634050645. 1
68634050646. 2
68634050647. 3
686340500648. 4

Question Number : 63 Question Id : 68634012822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Concept Explanation

A | Instinct I | Self determination theory

B. | Intrinsic motivation |II. | Fixed Action pattern

: B emvion| sctvanion 11| Oriented towards rewards
svstem
B [ Tc st v E_m'uonmemal motivational
trigger

Choose the correct answer trom the options given below:

1. A-II, B-III. C-I. D-IV

| )

AT B-LL C-I1. D-IV
3. A-IV, B-I, C-III. D-II
4. A-IT1, B-1I, C-1. D-IV

Options :

686340500649. 1
68634050650. 2
68634050651. 3
686340500652. 4

Question Number : 63 Question Id : 68634012822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1S 1Y G 11 BT fHer i

= 1 (HU) T 11 (ARSI
A [gemaia L |ame-FeRo gid
B. [#=aia HHIRo 1L [Fgd @& UEy
C. [EAagie® feariicrdr o3 111 [IREPR &1 3R 3™
D. [uieHre IV, [giaR U 1Ré
i fou 7T fasedl O O 9ol SR &1 99 Bifo ;

1. A-II. B-III. C-I. D-IV

| o

AT, B-1. C-II. D-IV
3. A-IV. B-1, C-III. D-II
4. A-IIL B-1I. C-1. D-IV

Options :

68634050649. 1

68634050650. 2
68634050651. 3



68634050652 4

Question Number : 64 Question Id : 68634012823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
Example Concept
Fraser's Spiral | 1. | Gestalt Law of Continuity
Motion picture | II. | Depth perception
Ames Room 111 | Stroboscopic movement
. | Visual clhiff IV. | Distort size constancy

REE

Choose the correct answer from the options given below:

1. A-I, B-III, C-II. D-IV

[ ]

AL B-IV. C-1, D-IT

L]

CA-L B-IIIL C-IV. D-II
4. A-1. B-I1, C-III., D-IV

Options :

686340500653. 1
68634050654. 2
68634050655. 3
686340500656. 4

Question Number : 64 Question Id : 68634012823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1S 1Y G 11 BT fHer i

T 1 (ITER) Tl 11 (HU)
A [FoR &1 TR I [F=03d1 &1 TRETee &l 09
B. a4 11 [FTeTs Ua&m
C. [T @ 111 [RER® it Td
D. [efF yi dasfard faew) Iv. [[deitd sneR FRuzd
-9 fau 7Y fa el O 9 98l OIR &1 997 DI -

1. A-I. B-III. C-II. D-IV

| )

A-TIL B-IV. C-1. D-II
3. A-L. B-III, C-IV. D-II
4. A-1. B-I1. C-III., D-IV

Options :



68634050653. 1
68634050654. 2
68634050655. 3
68634050656. 4

Question Number : 65 Question Id : 68634012824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A process of
A |Tevatogen [ jdentifying genetic defects

during prenatal duration.
Disorder produced by X-link

Fetal Alchohol spectrum

B dizorder B genes

C. |Amniocentesis 11 Mofhuess Ponsampuen &
alchohol during pregnancy

b | emophitia v Environmental agent like

virus, chemical etc

Choose the correct answer from the options given below:

1. A-IV. B-I. C-III. D-II

| ]

CA-IV, B-IILL C-I, D-II
3. A-IIT, B-IV. C-1. D-II
4, A-L. B-IV, C-1II. D-III

Options :

68634050657. 1
68634050658. 2
68634050659. 3
68634050660. 4

Question Number : 65 Question Id : 68634012824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1S 1Y G 11 BT fHer i

A1 T I
A_[f[qeurdrg (o) L [9gaud f[a®r & a9 AHdIRIS alyl &1 UgdH $d $i Hishy]
B [cd Hemigd WacH [3eMTey| 11 [UaH 103 o gRI 30— [dBR
C. [eFa=TEg 111 FTHIG® & TR J1 & gRI FGUH B
D. [raifthicra IV, [qiaRuiig SRUT oY fauIu], 34104 sdls
i fou 7T fasedl O O 9ol SR &1 99 Bifo ;

1. A-IV. B-I. C-III. D-II

| ]

CA-IV, B-IIL C-I, D-II
3. A-IIL, B-IV. C-I. D-II
4. A-1. B-IV, C-1II, D-III

Options :

68634050657. 1
68634050658. 2
68634050659. 3
68634050660. 4

Question Number : 66 Question Id : 68634012825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Tvpes of Intelligence Vocational end states
A | Spatial 1. |Dancer, Athelete
B B_Dd}'— : 1 Contribl.}tes to success in almost any
" [Kineshtetic " walk of life
C. | Interpersonal IT1. | Engineer, sculpturer, cartographer
D. | Intrapersonal v Therapist public relation officer, sales
person

Choose the correct answer from the options given below:
1. A-ITT. B-IV. C-I1. D-1
2. A-IIT, B-1. C-IV. D-II
3. A-IT. B-1. C-IV. D-III
4. AL B-11. C-L. D-IV
Options :
686340500661. 1

68634050662. 2
68634050663. 3



68634050664. 4

Question Number : 66 Question Id : 68634012825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1S 1Y G 11 BT fHer i

1 EEFUPR)| 11 (TSNS TR S

A [Re 1. [Ad®, uia@

B. [ERRfdfd 11 [ofla o o4 OYT &t o Ohaial 5 aRTeH
C [a=antgas |1 [arfindan gideR, aakEeR

D. |saidaigade | IV [Ridas. Sadus Aiden, fdhma

- fau 7Y fawedi # 9 Hel SR &1 99 Do -

1. A-TIIL, B-IV. C-11. D-I

| o

AL B-1L C-IV. D-II
3. A-IL B-I. C-IV, D-III
4. A-III, B-II. C-1. D-IV

Options :

68634050661. 1
68634050662. 2
68634050663. 3
68634050664. 4

Question Number : 67 Question Id : 68634012826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI
: LISTII
Tvpe of Reinforcement S
Definition
schedule
: . Remnforcement occurs after a set time
A |Fixed-ratio I :
period
= : Reinforcement occurs after a set
B. | Variable-interval II.
mumber of responses
. : . Remnforcement occurs after a varving
C. | Fixed-internal ImI. | . j & R
time period
. . . | Reinforcement occurs after a varying
D. | Variable-ratio IV % chsEs
number of responses

Choose the correct answer from the options given below:

1. A-ITT, B-II, C-IV. D-1
2. AT B-II1, C-1. D-IV
3. A-I B-IV. C-I1. D-III
4. A-IV. B-I. C-III. D-II

Options :

686340500665. 1

68634050666. 2

68634050667. 3
68634050668. 4

Question Number : 67 Question Id : 68634012826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & Y G 11 BT e S

= 1 (QAEaT A & UPR) T 11 (TR

A [gd-sHud L [gqscH U Hgd GHamEls & ugard 9idd gidl g
B [oRafd daea 11 [q9ea+ va (o eEfeanae & Udrd ied aidl |
C. [FTd siavra 1L [q9e e URad] 99araly & Y=ard "ied sidl ol

D [aRad sua IV. [gea= gRad] sifsharsi & a1 gied gidl o
=g fau 7Y fawedl & 9 Tl SR &1 999 DIy ;

1. A-TII, B-II. C-IV. D-I
2. A-IL B-I1I. C-1. D-IV
3. A-L. B-IV. C-11, D-III
4. A-IV, B-1, C-III, D-II

Options :
68634050665. 1



68634050666. 2
68634050667. 3
686340500668. 4

Question Number : 68 Question Id : 68634012827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI LISTII
Depth cues Definition

Straight lines seem to join together as they

A | Texture gradient | L :
= become more distant

Details of things on surface that are far

B. | Motion parallax | I : i
away  are less distinct

Linear An object changes position on the retina as
perspective " | the head moves

It two objects are the same size, the one
D. | Retinal size IV | producing smaller retinal image
is further away

Choose the correct answer from the options given below:
1. A-I, B-IL C-III. D-IV
2. A-IIL B-IV. C-II. D-1
3. A-IL B-III. C-1. D-IV
4. A-IL. B-III. C-IV. D-I

Options :

686340500669. 1
68634050670. 2
68634050671. 3
68634050672. 4

Question Number : 68 Question Id : 68634012827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1S 1Y G 11 BT fHer i

T 1 (Tes-8d) T 1 (TRUT)

A [fT34 gavrd L [gaHTR 3 g2 B UR Y | el 85 daid aldi o

B [1id ored 11. il g TR a3l o1 [0 R-gX Bid1 € 1 98 ®H ol W Udid el 2

C. oReRg |1 o ot RR T St & S & 33y 1 TR g% @) YT 9ecdi Yedl g

D. |a1i&geciy iR IV, [41E &l 9% T0H HIHR @1 § di [oad] HAl&ed ™ id @1 eldl &, 98 62 Ydid aidl ¢ |

- fau 7Y fawedi # 9 Hel SR &1 99 Do -

1. A-I. B-II. C-III. D-IV

| o

AL B-IVL. C-I1L D-I
3. A-IL B-III, C-1. D-IV
4. A-IL. B-III. C-IV. D-I

Options :

68634050669. 1
68634050670. 2
68634050671. 3
68634050672. 4

Question Number : 69 Question Id : 68634012828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Theorists Views on emotion
Physiological arousal and emotional
A |Lazarus I: ZiEn . :
experience occurs sumultaniously
Experience of emotion results from
B. | Cannon-Bard II. | phvsiological changes produced by specific
sefsation
e | pas Il Coggiﬁx'e.arou-sal even in the absence of
P physiological arousal
! ..  [Emotions are jointly detertnined by non specific
D. | Schachter-Singer [IV. : S il S
= physiological arousal its interpretation

Choose the correct answer from the options given below:
1. A-I. B-II1. C-11. D-IV
2. AL B-IL C-IV. D-III
3. A-II1. B-1. C-I1. D-IV
4. A-IV. B-II. C-1. D-III

Options :
68634050673. 1



68634050674. 2
68634050675. 3
68634050676. 4

Question Number : 69 Question Id : 68634012828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 &y i 1 9 e S

T 1 (HEaeR) T 11 (He R [9E9R)

A [aoRE 1 [Gfe® Sdol Ud 9iaiT® 3Hd U 1Y 3= eidl |

B. [p1Hare 11 [¥a71 @1 3H4F [P Yded1 30— $- aid aled URaddl § 3d- el ¢l

C. [srga 111 [GTe® Ioiorl @1 Suryfd # Hi G Stior &l 51|

D. [idex RiTR | 1v. [Hd71f @1 4o 4ged 39 9 SHAGRIF ¢igs Idu-l Ud 349! oIRed] & R Bldl o

=i fau Y fawedi & 9 Hel SR &1 9 Dife -

1. A-I, B-IIL. C-IL. D-IV

|

. A-IL B-L, C-IV, D-III
3. A-IIL, B-1, C-II. D-IV
4. A-IV. B-II. C-I, D-III

Options :

68634050673. 1
68634050674. 2
68634050675. 3
68634050676. 4

Question Number : 70 Question Id : 68634012829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange in sequence the following components of one of the theory of intelligence. which represents the name
of that theory?

A, Simultaneous
B. Attention

C. Planning

D. Successive

Choose the correct answer from the options given below:

1A B G

[ B)

.C.A.B.D

3B.C.AD

4 C.B.A.D



Options :

68634050677. 1
68634050678. 2
68634050679. 3
68634050680. 4

Question Number : 70 Question Id : 68634012829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 & Rigra & 1= sagdl &1, 1 % 39 Rgra & 71 1 Ugd @4 6. T8 3P § sgafd
DIl

14 fau U fawedi & 9§ 951 SR ®1 99 Difold:

1A B. TG

| )

.C.A.B.D
3.B.C.A.D
4. C.B.A.D

Options :

68634050677. 1
68634050678. 2
68634050679. 3
68634050680. 4

Question Number : 71 Question Id : 68634012830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give the correct sequence of stages of sleep from stage 1 to stage 4 with reference to the nature of brain
waves.

A Sleep spindles

B. Slower waves with higher peaks and lower valleys
C. Slower and more regular

D. Relatively rapid and low amplitude

Choose the correct answer from the options given below:
1LAC. DB
2Z2DACB
3.B.A.C.D

4.D. A B.C

Options :

686340500681. 1
68634050682. 2
68634050683. 3
686340500684. 4

Question Number : 71 Question Id : 68634012830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OiETs all & dgl I (51 1 Sawdrsl i S[awT 1 J 3aRT 4 & Hg! SFPpH I gaigt:

A. 51 I (Wig s )
B. 3= XY T 1 91dl & 91y Hig Tl

c. He ud afve fFafig
D. 9Ui&® ¥u I dig ud A= smam
A fau 7T fomedi § 9§ TEl 3R D1 gui Difeid:

1.A,C.D.B

b2

.D,A,C.B
3 BACD
4.D. A B.C

Options :

686340500681. 1
686340500682. 2
686340500683. 3
68634050684. 4



Question Number : 72 Question Id : 68634012831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following bipolar dimensions are measured by Myers-Briggs type Indicator (MBTI)?
A. introversion versus extraversion
B. thinking versus feeling
C. stability versus Neuroticism

D. perception versus judgement
E. angry versus calm

Choose the correct answer from the options given below:
1. B. C and E only
2. A. B and D only
3.C.D and E only

4. A.D and E only

Options :

68634050685. 1
68634050686. 2
68634050687. 3
686340500688. 4

Question Number : 72 Question Id : 68634012831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-7 TR A (TH.E1LCLAMTE.) & gRI A § 9 o o faydig faund ardt ot g2
A ST 89 dieEdl
B. a1 9919 yiaA
c. FRRar 991 dEeam

D. TH&0T &7 fAufg
E. it g1 9Iid

2 fau e fawed & @ 9l S| @1 9y Fifew:
1. $ad B. C R E
2. HadA. B IRD
3.%49 C.D 3RE
4. PadA. D 3R E

Options :
686340500685. 1
68634050686. 2



68634050687. 3
68634050688. 4

Question Number : 73 Question Id : 68634012832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the functions of Parasympathetic Nervous system?

A Increases salivation
B. Slows heart rate
C. Decreases digestive functions

D. Inhabits bladder functions
E. Dilates pupils

Choose the correct answer from the options given below:
1. A. B. and C only
2.B. C and E only
3. Aand B only

4. A and C only

Options :

68634050689. 1
68634050690. 2
68634050691. 3
68634050692. 4

Question Number : 73 Question Id : 68634012832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050689. 1
68634050690. 2
68634050691. 3
68634050692. 4

Question Number : 74 Question Id : 68634012833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the tasks that assess executive functions.

A. Conservation task

B. Stroop task

C. Trail making task

D. Color span backward task
E. False belief task

Choose the correct answer from the options given below:
1. E. D and A only
2.B.Cand D only
3.A.Band C only

4. C.A and E only

Options :

68634050693. 1
68634050694. 2
686340500695. 3
68634050696. 4

Question Number : 74 Question Id : 68634012833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340500693. 1
68634050694. 2
68634050695. 3
686340500696. 4

Question Number : 75 Question Id : 68634012834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the verbal subtests of Wechsler Adult Intelligence Scale?

A. Information

B. Similarities

C. Digit symbol

D. Object Assembly
E. Dagit Span

Choose the correct answer from the options given below:

1. Aand B only

[ )

.B. C and E only
3. A.Band E only

4.D. E and A only

Options :

68634050697. 1
68634050698. 2
68634050699. 3
68634050700. 4



Question Number : 75 Question Id : 68634012834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A A
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Options :

68634050697. 1
686340500698. 2
68634050699. 3
68634050700. 4

Question Number : 76 Question Id : 68634012835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are True of kohlberg's theory?

A. Kohlberg ignored the powerful emotions of pride, shame, guilt that influence our moral thoughts and
actions

B. 'Good boy' or 'Good Girl' orientation occur in the post conventional morality stage

C. Naive Hedonism characterises the behavior of children in the stage of conventional morality

D. Kohlberg believes that stages of moral development follows an invariant and universal sequence

Choose the correct answer from the options given below:
1. A. B and D only
2. A. Cand D only
3. B and C only
4. B and D only
Options :

68634050701. 1
68634050702. 2



68634050703. 3
68634050704. 4

Question Number : 76 Question Id : 68634012835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050701. 1

68634050702 2

68634050703. 3
68634050704. 4

Question Number : 77 Question Id : 68634012836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Behaviour modification involves.

—

. Applying reward techniques

b2

. Solving problems through insight

L¥ 5]

. Application of learning principles to change behaviour
4. Bringing behaviours under stimulus control

Options :

68634050705. 1
68634050706. 2
68634050707. 3
68634050708. 4



Question Number : 77 Question Id : 68634012836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050705. 1
68634050706. 2
68634050707. 3
68634050708. 4

Question Number : 78 Question Id : 68634012837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Being able to run a statistical analysis on data from the experiment.” Which of the following type of
intelligence can be explained by the given statement?

1. Creative intelligence

2. Analytical intelligence

3. Practical intelligence

4. Interpersonal intelligence
Options :
68634050709. 1
68634050710. 2

68634050711. 3
68634050712. 4

Question Number : 78 Question Id : 68634012837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050709. 1
68634050710. 2
68634050711. 3
68634050712. 4

Question Number : 79 Question Id : 68634012838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: People who suffer from anorexia nervosa are afraid of becoming fat and they binge-eat and then
purge food

Statement II: People who suffer anorexia nervosa are afraid of becoming fat and severally restrict their food
intake to the extent of starvation

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false

3. Statement I is correct but Statement IT is false

4. Statement I is incorrect but Statement II is true

Options :

68634050713. 1
68634050714. 2
68634050715. 3
68634050716. 4

Question Number : 79 Question Id : 68634012838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050713. 1
68634050714. 2
68634050715. 3
68634050716. 4

Question Number : 80 Question Id : 68634012839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Although the constitutes only 10% of the mass of the brain, it contains more than half of the brain's
neurons.

1. Thalamus

| ]

. Corpus Callosum
3. Cerebellum
4. Primary motor cortex

Options :

68634050717. 1
68634050718. 2
68634050719. 3
68634050720. 4

Question Number : 80 Question Id : 68634012839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634050717. 1
68634050718. 2

68634050719. 3
68634050720. 4

Question Number : 81 Question Id : 68634012840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other i1s labelled as Reason R

Assertion A : According to cognitive prospective thoughts. anticipations, planning. perceptions and attention
are all considered as major factors in behaviour

Reason R : Research on cognitive processes are generally done under highly controlled laboratory conditions
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634050721. 1
68634050722. 2
68634050723. 3
68634050724. 4

Question Number : 81 Question Id : 68634012840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050721. 1
68634050722. 2
68634050723. 3
68634050724. 4

Question Number : 82 Question Id : 68634012841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following diagnostic test is based on the concept of functional systems?

1. Rorschach Inkblot test

[

. Luria-Nebraska Neurophychological Battery

L]

. Halstead-Reitan Neuropsychological Battery
4. Thematic Apperception Test

Options :

68634050725. 1
68634050726. 2
68634050727. 3
68634050728. 4

Question Number : 82 Question Id : 68634012841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634050725. 1
68634050726. 2
68634050727. 3
68634050728. 4
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Question Number : 83 Question Id : 68634012842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which formula is applied to tests whose items are scored in dischotomous fashion such as right or wrong. true
or false etc?

1. Sphit-half formula

| )

. Cronbach's Alpha
3. Spearman-Brown formula

4. K-R. 20 formula

Options :

68634050729. 1
68634050730. 2
68634050731. 3
68634050732. 4

Question Number : 83 Question Id : 68634012842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U TRTeUT R 1597 G W eidT © ford Ua il &1 AT fguifor ¢-oi fas et a1 7o, 9 &1 30
gIfe 9 fpar S B

rdffa=de g
TS D]
OREA - 513
L P.3R. 20 A

—

| )

(5]

=

Options :

68634050729. 1
68634050730. 2
68634050731. 3
68634050732. 4

Question Number : 84 Question Id : 68634012843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Craik and Lockhart's levels of processing' model. which of the following will have the best
memory.

1. A word recognized as having five-letters
2. A word recognized by the number of vowels in it
3. A word analyzed for its meaning
4. All the words will be equally remembered
Options :
68634050733. 1
68634050734. 2

68634050735. 3
68634050736. 4

Question Number : 84 Question Id : 68634012843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050733. 1
68634050734. 2
68634050735. 3
68634050736. 4

Question Number : 85 Question Id : 68634012844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Sternberg's Triarchic theory of Intelligence people high on dimension usually excel on
standard tests of academic potential and make excellent students.

1. Contextual

2. Componential
3. Experimential
4. Cultural

Options :

68634050737. 1
68634050738. 2
68634050739. 3
68634050740. 4

Question Number : 85 Question Id : 68634012844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050737. 1
68634050738. 2
68634050739. 3
68634050740. 4

Question Number : 86 Question Id : 68634012845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Contralateral neglect is often associated with large lesions of the right lobe.

1. Parietal

[

. Temporal
3. Frontal
4. Oceipital
Options :
68634050741. 1
68634050742. 2

68634050743. 3
68634050744. 4

Question Number : 86 Question Id : 68634012845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050741. 1
68634050742. 2
68634050743. 3
68634050744. 4

Question Number : 87 Question Id : 68634012846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Figure out the standard deviation (SD) for the following scores: 2. 4. 3 and 7 (Mean =4).

1.1:35

b2

1.87
3.1.96
4,2.16

Options :

68634050745. 1
68634050746. 2
68634050747. 3
68634050748. 4

Question Number : 87 Question Id : 68634012846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 Ui | & fou 9= [a9aq J1d Sifere:
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Options :

68634050745. 1
68634050746. 2
68634050747. 3
68634050748. 4

Question Number : 88 Question Id : 68634012847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In classical test theory, the difficulty level of item 1s equivalent to the proportion of examinees in
a standardization sample who pass the item

Statement IT: IRT model concludes that test scores are more reliable for individual of average ability and
increasingly less reliable for those with very lugh or very low ability

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is correct but Statement II is false

4. Statement I is incorrect but Statement IT is true

Options :

68634050749. 1
68634050750. 2
68634050751. 3
68634050752. 4

Question Number : 88 Question Id : 68634012847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR RICACU R

HYT 1 : FAINYDT ¢ 2R H, TSI & HI18 Wik, Uh AHS! od WideR! H yiRendial & sy 9 giar
€ O f 39 U9 ¥ 9%d &id &

FYA 11 : 38R, ufau e Harad g o gdtenr urdie vd safdal & faw sare fays=ia gid €
ST 3fgd gl & 814 © Ud Hafte 3= o1 Addte e amadn 5fq safdaal & o &0 faygm sid €1
SRIGd FYF & AEP 1, - [0 U fawmadl § I 9gl 39 &1 99 ifoi:

1. DU IR G A &
2 YT AR SHT A S

3. PYF I Td ©. dfb HUT I 3T ©

4 PYTI AT 8. AfPT YT I I &

Options :

68634050749. 1
68634050750. 2
68634050751. 3
68634050752. 4

Question Number : 89 Question Id : 68634012848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following major areas are the arcas of assessment in mental states Examination (MSE)?

A. Cognitive and memory functions

B. Emotional functioning

C. Physique (Body build)

D. Perceptual error (illusion and hallucination)
E. Speech and communication

Choose the correct answer from the options given below:

1. C. D and A only

[ ]

.A. B and C only
3.C.D and E only

4. A. B and E only

Options :

68634050753. 1
68634050754. 2
68634050755. 3
68634050756. 4

Question Number : 89 Question Id : 68634012848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050753. 1
68634050754. 2
68634050755. 3
68634050756. 4



Question Number : 90 Question Id : 68634012849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of test construction in correct sequence.

A. Revising the test

B. Constructing the item

C. Selecting a scaling method
D. Testing the items

E. Defining the test

Choose the correct answer from the options given below:
1.LE, BB I A
2B B. D EA
JEC.B, DA
4. C.B.D. A E

Options :

68634050757. 1
68634050758. 2
68634050759. 3
68634050760. 4

Question Number : 90 Question Id : 68634012849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3B.B, DA

4. C.B.D.A.E
Options :

68634050757. 1
68634050758. 2



68634050759. 3
68634050760. 4

Question Number : 91 Question Id : 68634012850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Most empirically supported treatments are psycho dynamic or humanistic

Statement IT: RCTS (Randomized Control Trials) are regarded as the gold standard in psychotherapy
research

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

b2

. Both Statement I and Statement IT are false
3. Statement I is correct but Statement IT is false

4. Statement I is incorrect but Statement II is true

Options :

68634050761. 1
68634050762. 2
68634050763. 3
68634050764. 4

Question Number : 91 Question Id : 68634012850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050761. 1
68634050762. 2
68634050763. 3
68634050764. 4



Question Number : 92 Question Id : 68634012851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which symbol is used to indicate "unusual detail” in Rorschach scoring criteria based on Exner's system of
s = o
scoring’

L.

2. UD

3.Dd

4. Vg
Options :
68634050765.
68634050766.

68634050767.
68634050768.

W N =

Question Number : 92 Question Id : 68634012851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & 3@ 0 WR STEMRd 20 siep= ey T «3FRa1 3o (3FgS(3rd fSea) &1 & 1 davd
e fopan Sirel 57

1. 81 (D)

.gsl (UD)
SISl (Dd)
it (ve)

[

L]

=Y

Options :

68634050765. 1
68634050766. 2
68634050767. 3
68634050768. 4

Question Number : 93 Question Id : 68634012852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Schizophrenic patients with positive symptoms have a better prognosis for recovery than those
these with negative symptoms

Statement IT: The dopamme hypothesis states that schizophrenia 1s produced by an under supply of this
neurotransmitter

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is correct but Statement II is false

4. Statement I is incorrect but Statement IT is true

Options :

68634050769. 1
68634050770. 2
68634050771. 3
68634050772. 4

Question Number : 93 Question Id : 68634012852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR gy fiumu :

EEFI%I . TH RIS T&UN B -1 H YIS T&0T drel H-Ifdarierdr & Al & uR &1 41 d8a?
ERI

FYTIL - 5§|H|5r1 T ed-1 WY B! ¢ b AAfaeTerar 53t dEe 9UNe of 3ed Iuasdl & gRI
Ja- Bl s |

IR HYH & 3ATeid O, d U MU fdhedi § I Tl Ik &I 99 B ToIU:

1. DU IR G A &
2 YT AR SHT A S

3. PYF I Td ©. dfb HUT I 3T ©

4 PYTI AT 8. AfPT YT I I &

Options :

68634050769. 1
68634050770. 2
68634050771. 3
68634050772. 4

Question Number : 94 Question Id : 68634012853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the common obsessions:

A. Contamination

B. Excessive checking

C. Perfectionism

D. Hoarding

E. Unwanted sexual thoughts

Choose the correct answer from the options given below:

1. C.D and E only

[ )

A, Cand D only
3. A Cand E only

4.B. C and E only

Options :

68634050773. 1
68634050774. 2
68634050775. 3
68634050776. 4

Question Number : 94 Question Id : 68634012853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M HARRAd] @ 9gdH DIoIg:

- fau T faw et # 9 Tel STR &1 704 DI
1. $ad C. D 3RE
2. Pad A. C IR D
3.Pad A, C 3RE
4. HaAB. C HRE

Options :

68634050773. 1
68634050774. 2
68634050775. 3
68634050776. 4



Question Number : 95 Question Id : 68634012854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indicate the therapeutic techniques that are based upon prineiples of classical conditioning.
A. Aversion therapy
B. Applied Behaviour Analysis
C. Token economies

D. Systematic desensitization
E. Flooding

Choose the correct answer from the options given below:
1. A. C and D only
2.B.Cand D only
3. A DandE only

4. A. Cand C only

Options :

68634050777. 1
68634050778. 2
68634050779. 3
68634050780. 4

Question Number : 95 Question Id : 68634012854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATyl 3EY- & ol W ruid e de-ie! &1 giTd Sife:

A. fasfa Fafde (smaei 2R
B. 3Ugdd agR faweiyu
C. Ficbldep SiouaeT (CIh gepi-H)

Y [t

D. HHES SRiddmul (Redfes feddenos)
E. TS

=it fau T fawedt 7 9 Tel SR &1 904 DI
1. AT A, C IR D
2.%adB. C 3R D
3. %ad A.D JRE
4. PTAA.CIRC

Options :
68634050777. 1
68634050778. 2



68634050779. 3
68634050780. 4

Question Number : 96 Question Id : 68634012855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Many people who suffer recurrent panic attacks develop agoraphobia because they fear they will
have an attack in public

Statement IT: Panic attack can also occur during sleep
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

b2

. Both Statement I and Statement IT are false
3. Statement I is correct but Statement IT is false

4. Statement I is incorrect but Statement II is true

Options :

68634050781. 1
68634050782. 2
68634050783. 3
68634050784. 4

Question Number : 96 Question Id : 68634012855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR sy U E:

DY : By, Al ol GARIG A SHTPHUT G UIfSd 5id & 998 =H-2ifd (GRwIiean) faedid gl ordr g
Fifep 3 59 a1d A vgid 81d & fr 3= uidui~e Wd W SR UsS ol o

YU 11 - A1 316 a1 (U 3ie®) Fgr & erE i ufed g1 asar g1

IWRIGd $YF o ATl H, Fid ST [dhedl § I 9gl SR &1 90 HIOE:

1. YT AR 11 SF1 9 &
2. YT IR SHT 3T T

3. PYTITA R AP U 3 &

4. PYT 1 AT &, AT PYT I I ©

Options :

68634050781. 1
68634050782. 2
68634050783. 3
68634050784. 4



Question Number : 97 Question Id : 68634012856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following interviewing skills 1s intended to help clients change their self-defeating behaviours?

1. Self disclosure

[ )

. Open-ended questions
3. Disputing
4. Focusing

Options :

68634050785. 1
68634050786. 2
68634050787. 3
68634050788. 4

Question Number : 97 Question Id : 68634012856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬁ?@[ﬁ??ﬂm&dwm & I91e, ATl &1 S0 M-I TaER] B gaa- H Jerddl g AT
Bldl g2

1. W-YH [HRU]

| )
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IR (B-50)
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e

Options :

68634050785. 1
68634050786. 2
68634050787. 3
68634050788. 4

Question Number : 98 Question Id : 68634012857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is a type of closed-ended question i clinical interview?

1. Tell me about your problems

| B

. What kind of recreational activities do you prefer?

LIPS ]

. What kind of cars do you like?
4. Is your father strict?

Options :

68634050789. 1
68634050790. 2
68634050791. 3
68634050792. 4

Question Number : 98 Question Id : 68634012857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI HaepR T F o 9 B 91 uRUIdRR T 31 TR 82
1. U SH=13 & 9 ¥ g §aigy|

39 fhy v R @t gAfsharas nfafafem of mufiedr 3d €1

3. 39 35 TR & BR 09 FXd 87

4. 91 3{1ueh o 2rRed 82

Options :

68634050789. 1
68634050790. 2
68634050791. 3
68634050792. 4

| )

Question Number : 99 Question Id : 68634012858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A random sample in which two or more subsamples are represented according to some predetermined
proportion. generally in the same proportion as they exist in the population is called sample.

1. Simple Random
2. Cluster

3. Stratified Random
4. Systematic

Options :



68634050793. 1
68634050794. 2
68634050795. 3
68634050796. 4

Question Number : 99 Question Id : 68634012858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ue refes uiaes o < a1 3ad efe Su-vfaesl oo ydiuiRa rurd, mraq: St srua F
o o/ dTa & d S9eEn § femH sld § FEAd gl

1. 9 dle=5y
2. 1[5 (FTeR)
3. Wikd arefse
4. hHdg
Options :
68634050793. 1
68634050794. 2

68634050795. 3
68634050796. 4

Question Number : 100 Question Id : 68634012859 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Individuals with paranoid personalities tend to be grandiose, entitled, and self-centered

Statement IT: Individuals with narcissistic personalities are aloof. emotionally cold. display unjustified
suspiciousness, jealousy and fear of intimacy

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is correct but Statement II is false
4. Statement I iz incorrect but Statement IT is true

Options :

68634050797. 1

68634050798. 2

68634050799. 3
68634050800. 4



Question Number : 100 Question Id : 68634012859 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050797. 1
68634050798. 2
68634050799. 3
68634050800. 4



